Finding Factored Form Assignment
We can use trinomial factoring to change standard form to factored form to answer many different types of problems.

1. A parabola has the equation y = 2x2 – 4x – 6 

	(a) write the equation in factored form ______________________

(b) determine the zeroes _______________________

(c) determine the axis of symmetry __________

(d) determine the vertex ________________

(e) determine the step pattern  _________________

(f) graph the parabola at the right

(g) write the equation of the parabola in

the vertex form
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2. Imagine you had a quadratic relation in standard form.  What steps would you take to make an accurate graph of the parabola?

3. A ball is thrown upwards.  Its height is described by the equation h = -5t2 + 20t, where h is measured in meters and t is measured in seconds.

(a) Common factor h = -5t2 + 20t,

(b) how high is the ball at 0, 1, and 2 seconds?

(c) Using the factored expression find the time when the ball hits the ground

(d) use your answers from (c) to find the maximum height of the ball and when it occurs.

4. A parabola has the equation y = -2x2 + 12x – 10 

	1. Write the equation in factored form

2. Determine the zeroes

3. Determine the axis of symmetry

4. Determine the vertex

5. Determine the step pattern

6. Graph the parabola at the right

7. Write the equation of the above parabola in vertex form
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5.   A cannonball is launched upwards.  Its height is described by the equation h = -5t2 + 40t + 45, where h is measured in yards and t is measured in seconds.

a)  how high is the cannonball at 0, 1, and 2 seconds?

b)  from what height was the cannonball launched?

c) factor the expression to find when the cannonball hits the ground

d)  use your answers from (c) to find the maximum height of the cannonball and when it occurs.











































